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0 28.4 13.2 7.1 0 0 0
. 5 30.3 32.8 6.9 0 0 0
ARz * 6 30.0 33.0 6.5 0 0 0
(-/36.4m)
(09:02] 10 29.4 33.2 5.1 0 0 0
15 28.0 33.3 4.0 - - -
20 26.7 33.5 4.7 - - -
0 30.5 24.4 7.3 0 0 0
B A&k 29.9]  32.9 6.5 0 0 0
(-/33.4m) % 10 29.3 33.2 5.4 0 0 2
[09:09] 15 28.3 33.3 4.8 - - -
20 27.2 33.5 5.6 - - -
0 30.5 25.9 7.0 0 0 0
C SR 297 32.9 6.7 0 0 1
(-/52m) % 10 29.1 33.2 6.1 0 0 0
[09:17] 15 28.8 33.2 5.3 - - -
20 27.9 33.4 5.3 - - -
_ 0 30.7 22.2 7.0 0 0 0
DREX *x 5 303 327 6.8 0 1 0
(-/13.8m)
(09:34] 10 29.2 33.1 5.8 0 0 0
15 28.0 33.4 5.0 - - -
0 30.2 29.1 6.7 0 0 0
Eenws 30.4 32.7 6.7 0 1 0
(-/25.7m) % 10 29.4 33.1 5.6 0 0 0
[09:54] 15 28.2 33.3 5.1 - - -
20 27.1 33.5 4.9 - - -
0 31.1 31.4 6.8 0 0 0
F &#L * 5 29.6 33.0 6.4 0 0 0
(-/17m) 9 29.3 33.1 6.2 0 1 0
[09:42] 10 29.0 33.2 6.0 0 0 0
15 27.9 33.3 5.2 - - -
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BES75v0 by wmE EBREE (XD EREE (x2) a/ME| Bz | meE
nger\t/m:m)i’ktmgt:% b)) BRSO ~E 100 cells/mL 1,000 cells/mL 5~8H 6~8A —
C(h;’:"ff”: i, SO O~ TE 10 cells/mL 100 cells/mL 6~88 - -
Cf;";”‘g”;?;"g"fj’f’f"?ﬁj pyagrz) | FEEO~E 10 cells/mL 100 cells/mL - 2~47 5~6A
ﬁef?;g"/'";’:vh';; o) FOEO 5,000 cells/mL 50,000 cells/mL 3~128 | 4~88 | 4~118
) O~ E - 5,000 cells/mL 6~7A 48 -
TE";“?;’ Py AT D~ B - 10,000 cells/mL 8~98 - -
pacrocpcireutrioguans o - scels/m. | 8~118 | - -
Aﬁj":‘f;’”jﬂ% LB BT 10 cells/mL 100 cells/mL - 1~45 3~58
G{:’Z’f”;":”;”:’f’"';’j sy 1) RO = 1 cell/mL — — 2~T7H
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